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Calculate the area

5. Acirle has a diameter of 9 m.
‘Work out the aea of thecirce.
Give your answer correct o | decimal place.
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[ 2. [ Find the circumference

ar 9 Core — Area and Circumference of circles

and circumference of the circles with the
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3. [ Find the circumference 2. | What s the area of this circle?
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6. Acircle has a radius of 8 cm.
Work out the area of the circle.
Give your answer in terms of &
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Work out thecircumference of the crcle.
Give your answer n erms of
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Acircle has 3 adivs of 6.5 cm.
Work out the circumference of the circle.
Give your answer correct o 2 decimal places.
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Acircular field has a diameter of 32 metres.
farmer wanis (0 build a fence around the edge of the field.

Each metre of fence will cost £15.95
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Area of rectangle = b x h

Calculate the area of compound shapes by splitting.
them up into more recognisable shapes.
This question has been started for you.
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